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If principal is 11000.00, ROl is 10.00% p.a., no of year(s) is 5 and interest type is compound interest computed
half yearly, then interest is

(i) X6919.84 (ii) X6918.84 (iii) X6916.84 (iv) X6917.84 (v) X6915.84

If principal is 10000.00, ROl is 9.00% p.a., no of year(s) is 3 and interest type is compound interest computed half
yearly, then amount is

(i) X13024.60 (ii) X13021.60 (iii) X13022.60 (iv) X13023.60 (v) X13020.60

If ROl is 7.00% p.a., no of year(s) is 3 and accumulated compound interest is $2292.55 computed half yearly, then
principal is

(i) X10002.00 (ii) X10000.00 (iii) X10001.00 (iv) X9998.00 (v) X9999.00

If ROl is 5.00% p.a., no of year(s) is 3 and accumulated compound interest is ¥3193.87 computed half yearly, then
amount is

(i) X23192.87 (ii) X23191.87 (iii) X23195.87 (iv) X23194.87 (v) X23193.87

If principal is 18000.00, no of year(s) is 2 and accumulated compound interest computed half yearly is ¥1483.78,
then ROI per annum is

(i) 4.00% (ii) 2.00% (iii) 5.00% (iv) 3.00% (v) 6.00%

If principal is X7000.00, no of year(s) is 3 and accumulated compound interest computed half yearly is 1358.37,
then amount is

(i) X8360.37 (ii) X8358.37 (iii) X8356.37 (iv) X8357.37 (v) X8359.37

If principal is 19000.00, ROl is 8.00% p.a. and accumulated compound interest computed half yearly is 9124.64,
then no of years is

(i) 3 (ii) 6 (iii) 5 (iv) 4 (v) 7

If principal is 20000.00, ROl is 9.00% p.a. and accumulated compound interest computed half yearly is 6045.20,
then amount is

(i) X26043.20 (ii) X26047.20 (iii) X26045.20 (iv) X26044.20 (v) X26046.20

If principal is 20000.00 and compound interest amount is 22950.46 for 2 year(s) computed half yearly, then
interest is

(i) X2950.46 (ii) X2952.46 (iii) X2951.46 (iv) X2948.46 (v) X2949.46

If principal is £16000.00 and compound interest amount is X17661.01 for 2 year(s) computed half yearly, then
ROl per annum is

(i) 5.00% (ii) 7.00% (iii) 6.00% (iv) 3.00% (v) 4.00%

If the compound interest amount for a certain principal is ¥12155.06 for 2 year(s) at an ROI of 10.00% p.a.
computed half yearly, then principal is

(i) X9998.00 (ii) X10000.00 (iii) X10002.00 (iv) X9999.00 (v) X10001.00
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If the compound interest amount for a certain principal is ¥9009.30 for 3 year(s) at an ROI of 4.00% p.a.
computed half yearly, then interest is

(i) X1010.30 (ii) X1007.30 (iii) X1011.30 (iv) X1009.30 (v) X1008.30

If the simple interest on a certain principal is 5130.00 for 3 year(s) at ROl 9.00% p.a. computed half yearly,
then the compound interest for the same principal, terms and ROl =

(i) X5743.94 (ii) X5744.94 (iii) X5742.94 (iv) X5740.94 (v) X5741.94

If the compound interest on a certain principal is ¥1834.04 for 3 year(s) at ROl 7.00% p.a. computed half yearly,
then the simple interest for the same principal, terms and ROl =

(i) X1680.00 (ii) X1679.00 (iii) X1681.00 (iv) X1678.00 (v) X1682.00

Calculate the amount onX19000.00for3years11 months
at3.00% p.a.compounded half yearly

(i) X21349.64 (ii) X21350.64 (iii) X21348.64 (iv) X21351.64 (v) X21352.64

1
Calculate the amount onX16000.00for3 5 years

at3.00% p.a.compounded half yearly
(i) X17757.52 (ii) X17758.52 (iii) X17755.52 (iv) X17759.52 (v) X17756.52
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